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TR AR S5 AR ST (1) 7 SHR (D) @ BHAR (3) AL (4) A

TAPkET o g2 f it B R2(1) BTk (2) B (3) R (4) #p

Bz a2 e T AT A1) §okE () AR Q) THRE () AR

TH Y @ —‘F‘fé_bllisk fé s 2. F]+ 7 (1) SOz (2) COz (3) NO;z (4) N,

T 7 e —‘F‘fl_{it -k Fip 152 (1) BOD (2) COC (3) LDsy (4) pH

TP F IR Y AL 4 552 (1) 05 (2) SO, (3) CO, (4) NO
ARG B2 R PR RS BA (1)3Q)6(3)9@) 124 L

CEFE AL &) F]S 5 R?(1) SO, (2) CO, 3) NO; (4) N,

CfER LR (20%)
4 ¥ k%5 (Bioconcentration)
B B 7. % (El Nino Conditions)
L %7 &£ (Lethal Dosage 50)
it &8 2 3% ¥ (Chemical Oxygen Demand)
&% i* (Eutrophication)
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1. % lim f(x)=lim f(x) > R/ lim f(x) % % o
2. Ff(0) x=aka®F > B lim f () = lim f(x)
3. & f(X)=In|x| > x=0 > }] f’(x):_1 o
X
4 EF00 0 g% 5T A S im o s pim o
x> g'(X) == g(X)
5. -Ehmf(x)—hmg(x) 0 > B lim ALY =1 o
x== g(X)
6. EXy+y +2x=5> E‘Jﬂ:—w °
dx X*+2y
7. 11rn|x| -1
x—0" X
8. ¥#73 x>0 (Inx)’=3-Inx °
9. %’f(x)=x4+§x3—1 » B E(X) tex=—1/aF B ER] E o
- 1 1 1 e =
+ f(X)=I+5+"'+—+”' : E'J ﬁlg(f(x) & — P]{H\;}.,ﬁ'g: o
n
-~ PEE (50%)
2_ —
I lim> X712 2. limx* = 3. 4 Tsxa9-
x>4 X°—3x—4 x4 dx
d In X -
5. —[In(2x—-1)(x+2)] = 6. [—dx= 7. [xe” dx=
dx X
2x+1+a if x<1
9. X f(x)= b if x=1 >

X +3x=5 if x>1

(a) 3B f(x) e x=1Ru &' 3 &0 Pla="?

(b) S8 f(x) x=1/i & > Plb=

H2E30(50%) [P 2d > $H@EP 52 S5 Fwp ]
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- ~EFALTO%EE  FAI% G ERY FN - BERAIADE R BWERRDLY > ZRMER FH 7 Eldr)
L k& B 332 8MF A0 L3R THPXIKERF?
(A)Ca (B)Na (C)Mg (D)Fe
2. PR - fEE RerE kAl > B L H 5N 5 KAISO), - 12H0 0 F 8309 24 8B F RIT ?
(A)l4  (B)I6  (C)I8 (D)20
3. 6P LR SR ARENE GBS AR T A UM EIER SR TR E BN R 2
A)*# B)F# OF#E OE7TH
4. =~ Jr(marijuana)enit & A Fu > A BB G F 5 AR U BT I AER
(A)iy L& B)FRE  (OLiH  (D)EFA
5. %0%a@F £ ABFS ¢ 32359
(A)I0>10-8 (B)8-10-10 (C)lI0-8-8 (D)8:8:10 &
6. BEFEH > RFI T I s prd-frghud > a2 AL L f g LRERER ST R
FhBRFIM)? RS 1
(A) 6 (B) 10 (C) 14 (D) 18 ®
7 RCKATHE - BBEE NG P EARAMHY R EARANREY 0 A4 AR Gd Gl AN
r i A A AR Y
A) AAFE (B) %9 (C) kigm (D) * fwdd g5
8. ezt F s+ Ly whF 50

(A) Fe (B) Mg (C) Ni (D) Ca
9, h- IV BERY » ERERERLE > BT A LGEIR- TEF T FE?
(A)r+EFEREH~ B)F B2 Fafigdigse (C) F B2 iFitas ™ (D)L foec ¥

10.7 7] T g7k se® 0 F = 4258 2NHse — Ny +Hay AH=923kJ
KRFE e LR VT FE D
(A)‘v SRA BE»ZF (C)r# Mg D)= % &K
11. 225C™ » @A [(H)=1.0x10"M> p|# pOH=?
(A)4 (B)6 (©)8 (D)10
12. - #8f » 87438 5 CH;COOH » i % §§ B & HOAC & HAC » 3B b 5 v fi ik ?
(A) ¥ B) gpx (C) ®RiFpk (D) *pk
13 9%z o —4d ¥ hd LRmp(HS0)  HIER L 55 M?
(A)IOM  (B) I2M (C) 18M (D) 36M
14. 48 9 % + oi § % 3 % (buffer solution) » # 1 & # &y &_
(A) BR¥EF g B) 24 8F B* & <P (C) #3khpHE* % (D) #i3khpH @7+
15. ¢ 4o 15ml 57 02M HoSO4 > 3 5 884 (ml)en 0.1 M JE R KOH 3§ £ 8.9
(A) 15ml (B) 30ml (C) 60ml (D) 90ml
16.¢ s BT =  Zn—Zn +2¢ > E'=  0.76V
Ag—Ag +e > E’= -0.80V
3B F st Zn+2Ag > Zn7 +2Ag R B E=9
(A) +236V  (B) +1.56V  (C) -1.56V (D) -0.04V
175 “BRF &Y > BRE- 4
(A) ¥ Mg PR B) IS aE g (C) A2 RFE . (D) & RFHP HF




18.5 * BRF = 4258 ©  6Fe”+1Crn0; *+14H - 6 Fe™+2 Cr™+7 H,0
B¢ 1Cn0; 2—2Cr" ABCrh+§ CHeh@ 550 2(8"E47)
A) 2 (B) 3 (C 6 (D 12
19T 5§ 4T H7F fu: 2D +E @ —2Fg T HmREkAE (D] =1IM>(E)] =02M-(F)] =08M -
PFRE LY i Ke=?
(A) 08 (B) 12 (C) 32 (D) 40
205 F BA+B-3C HF B FEA-BEF M §EBAERSRE F B 4B ]
FHBBER SR F RE TR & o Plag F g ENE
(A)Rate=k ([A)J(B)? (B)Rate=k ([A)J*[B)]* (C)Rate=k [A]* (B) (D)Rate=k [A]' (B])?
21 kR MFELZT A RRDE LW ?
A) % (m M (C) m (D) N
2.5 penfagrd icKa=1x10° pl# pKa= ?
(A) 6 (B) +6 (C) -8 (D) +8 (B)#=z
235 % % 100 sueh F R 10 F ST AR o g § 4 #i( parts per million > ppm ) # 7 4TS kA A
(A) 0.1ppm (B) Ippm (C) 10ppm (D) 100ppm
247 S BT de K i b ?
(A) &4 (B) 34t (C) + %4t (D) & et
2540 F R B it £ KA R pﬁ‘g S el ’iﬁ?
(A)CaCl, (B)KNO; (C)CH;COOH (D) HF

CHEEE 250 GRH-E AR B E RN > BAAR K 3P

(10%)1.38 8 2177 7 i 838 9
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(5%)2.5% 2 4xpe @ 04 M end § - o (NaOH)3 iR » 3+ B 55 P suend § it 4
SRR BMA S S00mlz R 2 (r+ € H=1.0 > 0=16.0 > Na=23.0)
(5% )35 * LB F W=238(PV=nRT - R= 0.082 atm.L.mole” K') » i &
£27Colatm ™ »2 5B & gkl 5 5 A9
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